EXTHHEE OOT|ERX

BHEHEB LEEREWN) | MIEERA B iR (D) - (B) &=
< Y—ERFEERBDOE >
< IR#E >
SBINGS 34, 200 31,000 3,200
— S BERE 34, 200 31,000 3,200
BRERERY SIS 1,304, 000 1288, 000 16, 000
i B BT A1 4 B & AN 3S 1,304, 000 1288, 000 16, 000
EBWS— MR- UISEE S LRSI 1,304, 000 1,288, 000 16, 000
ZREIRE 1,995, 400 1921, 700 73,700
BT 2 & INES 1,995,400 1921, 700 73,700
VA= AME LA —BEZHERE 1,995, 400 1,921,700 73,700
EETTE 14,276, 411 9,884, 103 4,392, 308
FIFE AL IR 28 11,803, 102 7,876, 609 3,926,493
FHEHRE 1.175.379 778, 036 397, 343
MHEZIRE 1,297, 930 1229, 458 68, 472
— E R EBREE (1) 17,610, 011 13,124, 803 4,485, 208
< &m >
N 1.729.172 1472122 257, 050
FEHWELS 1,721,678 1,464,110 257, 568
FEHBEER 1,418, 547 1,185,792 232, 756
FEHBEET Y 303, 131 278,318 24 813
R B 7,494 8,012 518
EE3 14, 841, 412 10, 874, 384 3,967,028
KBS EBE 322, 334 314, 551 7,783
PRE 2 246, 336 227, 634 18,702
EmREE 246, 336 227, 634 18,702
HERERRE 78, 171 204, 958 ~126, 787
R 370, 430 363, 300 7,130
EETES 122,500 254, 950 ~132, 450
B EWRE 57, 843 70, 001 —12, 158
EBERE 912,297 745,518 166, 779
FHH 25, 080 25080 0
BH® 11,700, 622 7,726,354 3,974, 268
MHEZZH 963, 250 942,038 21,212
B 12,100 0 12,100
RE 30, 449 0 30, 449




EHE 328,575 236, 950 91, 625
U S 328, 575 236, 950 91, 625
SHESER 20, 000 10, 000 10, 000
BHEEEH 20, 000 10, 000 10, 000
SHESER 20, 000 10, 000 10, 000
AT 5 A B 8,209, 632 8,209, 632 0
E =B & F AR L S ERAREE -8, 209, 633 -8, 209, 632 -1
H—EXRFHERE (2) 16,919, 158 12, 593, 456 4,325, 702
H—ERFSERELES)=1-(2) 690, 853 531, 347 159, 506
< H—EXFEHHNMERDOE >
< Iv# >
2 HF AL 5 & U 45 44 1
H—ERFENSMREEE (4) 45 44 1
< ZH >
H—EXFENEREO) 0 0 0
H—EREBNMERELE 0)=4-6) 45 44 1
REBBELE (1)=00)+(6) 690, 898 531, 391 159, 507
< FANEROE >
< W@ >
I IR 8 5T (8) 0 0 0
< ZH >
5 AE (9 0 0 0
FERIIBIRERE (10)=(8) - (9) 0 0 0
LSEFEEBEEE D=1 +010) 690, 898 531, 391 159, 507
< MRBESEHNZEOR >
BT AR R BRI 25 (12) 1,011,183 604, 792 406, 391
LHAREBEEIRRELE (13)=(11)+12) 1,702, 081 1,136, 183 565, 898
EXTHRAAZE (14) 0 0 0
AT HRARZE (15) 0 0 0
ZTDMDIEIL L EAREE (16) 0 0 0
ZRMDIEILETELEE (17) 440, 000 125, 000 315, 000
VIWN—EREABEISIRTEE 440, 000 125, 000 315, 000
s 52 3 £ 3 %
RIARLEIB R =R 1,262, 081 1,011,183 250, 898

(18)=(13)+(14)+(15)+(16)-(17)




